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ASSISTANT DIRECTOR (HK) IN THE DEPARTMENT OF ECONOMIC AND STATISTICS

Examination held on 06-09-2023 (AN)
Specific Paper (Paper - 2) (Subject Code: 549) (Economics)

KEY CHART
Question Booklet Series - 'R’

Total Marks : 300 3 Marks for each question
Question Key Question Key Question Key Question Key
Number Answer Number Answer Number Answer Number Answer

1 1 26 4 51 3 76 4
2 3 2.7 3 52 1 77 4
3 3 28 3 53 2 78 1
4 1 29 4 54 2 79 4
5 4 30 1 55 3 80 1
6 2 31 4 56 1 81 4
7 3 32 4 57 4 82 1
8 1 33 2 58 2 83 1
9 4 34 1 59 3 84 3
10 3 35 1 60 17 85 4
11 3 36 2 61 2 86 4
12 1 37 2 62 1 87 2
13 1 38 4 63 2 88 1
14 4 39 2 64 2 89 1
15 4 40 4 65 1 90 2
16 2 41 1 66 4 91 2
17 1 42 3 67 3 92 1
18 2 43 2 68 3 93 4
19 1 44 1 69 4 94 2
20 3 45 3 70 4 95 2
21 3 46 3 71 1 96 2
22 2 47 4 72 1 97 2
23 2 48 2 73 4 98 2
24 3 49 4 74 2 99 2
2 1 50 1 75 1 100 4

Note: Every question for which wrong answer has been given by the candidate, 4 th (0.25) of the
marks assigned for that question will be deducted.

Sd/-
Controller of Examination
Karnataka Public Service Commission
Bengaluru.
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1. To make meaningful
international comparisons of

income and living standards,
which one of the following is
most appropriate?

(1) A measure of purchasing
power parity

(2) A measure of per capita
income

(3) An index of poverty

(4) An index of infrastructure
development

2. “The absorption approach” of

analysing balance of payments
was formulated by

(1) M. Friedman

(2) Marshall and Lerner
(3) Sidney Alexander
(4) Haberlelr A

loss in currency fluctuatiéhs
through which of the followifg?
(1) Speculation” $

(2) Arbitrage- $

3) Hedgin@

(4) Purchasing

4. Joint SAARC University of eight
SAARC nations is established in

(1) New Delhi (India)
(2) Malé (Maldives)

(3) Colombo (Sri Lanka)
(4) Dhaka (Bangladesh)

3. The traders reduce the I‘i% \%\
g

/549-R (3)

.

5. Which of the following is not 2

component of FDI?

(1) Equity capital
(2) Reinvested earnings
(3) Intra — company loans

(4) Global depository receipts

Consider the
statements regarc

of Paymen :
(i) Igﬁ‘ uble-entry book-
e

ing accounting.

@"ﬂn accounting balance is

synonymous with
equilibrium.

(i) BoP is calculated at a
particular point of time.

(v) Current account is a part
of BoP account.

How many statement(s)
mentioned above is/are correct?

(1) Only one
(2) Only two
(3) Only three

(4) All of the above

[P. T. O.
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7. Consider the given statementsg

about WTO :

(i) WTO was established on
Ist January 1995,

(i) General Agreement on
Trade in Services (GATS)
does not include financia]

services and
telecommunications.

(@) Agricultural trade wasg
brought under WTO
Agreements in the Doha
round.

Which of the above statement(s)
is/are not correct?

(1) Only (i)

(2) (1) and (@)

(3) (i) and (iii)

(4) (i) and (i)

Balance of Payme»nis (BoP) is

calculated by, Which of the
following accounting methods?

(1) Double-entry method
(2) Cash method

(3) Managerial  accounting

method

(4) Single accounting method

/549-R

(S)

9. Match List-I with List-

) 1

(i) Hedging

(@) Dumping  (c)

List—II

(@) A mechanism
which merges
two separate
physical
markets into a
single market
in economic
sense

List—I

(i) Arbitrage  (b) A device

govering
exchange
risks against
the price rise
of foreign
currency
Trading a
financial
instrument
involving high
risk in
expectation
of significant
returns

(iv) Speculation (d) Related to

international
price
discrimination
Choose the correct answer
from the options given below :
M @ (@@ ()
(1) (d) (o) (a) (p)
2) (@ (d) () (a)
B) (@ (b) (o) (d)
(4) (b) (a) (d) ()

| BT 0.
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13.

The Bretton Woods system was g

(1)
(2)

gold standard

managed floating exchange
system

gold exchange standard

(3)
(4)

crawling peg system

With reference to the
hypothesis testing, consider the
following statements :

(i) Reject H , if it is true, this
can be said as a error.
Accept H , if it is false, this
can be said as B error.

(i)

Probability of accepting H_,
if it is false, this can be

said as 1-B.

(itt)

Which of the above statements
are correct?

(1) (i) and (iii) only
(2) (i) and (iii) only
(3) (i) and (ii) only
(4) (i), (ii) and (iii)

Find the equilibtilm price and
quantity for the market
D = 250 — 50P, S = 25P + 25
under equilibrium D = S.

(1) P=3,Q =100

2) P=5,Q=250

3) P=6, Q=30
(4 P=10,Q =50
'549-R

(7)

14.

in
Consider the following

statements :

Assertion (A) : The emstencce)
of correlation between t\_ﬂt
variables can be shown- to -6.XlS
only when there is variability.

Reason (R) : If one of the

variables is a constant, With.no
variability, then the correlation
is not even defined.

Choose the corr:gct answer
from the optiens, given below :

Both(A),and (R) are true
and (R) is the correct

explanation of (A)

(1)

Both (A) and (R) are true
and (R) is not the correct
explanation of (A)

(2)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

Which of the following is a
relative measure of dispersion?

(1) Variance
(2) Standard deviation
(3) Range

(4) Coefficient of variation

[ P B0
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45. In a normal distribution,
(1) Mean > Median > Mode
(2) Mode > Mean > Median
(3) Mean # Median # Moge

(4) Mean = Median = Mode

16. Stratified sampling is adopteq
when
(1) the universe is
homogeneous
(2) the universe is

heterogeneous

(3)
studied

data about universe\is,not
available $
Geometric n@ gives more

weight to

(4)

17.

(1) small items
(2) large items
(3) Both (1) and (2)

(4) speed and distance

/549-R

. ! ~K‘(“H
selected groups need to ‘ti?’:

(9)
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iven
18. Following statements ar€ gl

about Karl Pearson's
correlation coefficient :

(i) It shows linear as well-as
non-linear  relationships
between variables.

It is affected by the value
of extreme items.

(i)
(itt)

Its value ranges between
Which of
statements|(

-1 to +1.

%& above
e correct?

(1) © 1@

2) &'fd (iii)

Q—?}L and (ifi)

(i) and (ii)

,\'19. Consider the following :
(i) Aggregate method

(i) Semi-average method

(i) Moving average method

(iv) Least squares method

Which of the above is not a
method of measuring trend?

(1) ()

(2) (@)
(3) (i
(4) ()

[ . T, 0.
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20. Consider

21.

22,
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the following
statements !

(i) Type-I error is committeq
by the test in rejecting g
true null hypothesis.

(ii) Type-Il error is committegd
by the test in accepting a
false null hypothesis.

Power of the test is equal
to one minus probability of
Type-I error.

Which of the above is/are not
correct?

(1) Only (1)

(2) (i) and (ii)

(3) Only (iii)

(4) (ii) and (ii1)

When two regression lines
Me, thfen the coefficient.of

(ggr’gglaﬁon-lrs

(1) O

(2) -1

(3) 1

(4) 0-5

Which of the Tollowing statistical

tools is highly useful as the
indicator of inflationary Of

deflationary tendencies 1n an
economy?

(iii)

(1) Regression
(2) Index numbers
(3) Time series

(4) Correlation

23.

24.

25.

(11)

In the measurement of data,
zero temperature and 2€ro
weight are represented by

(1) nominal and ordinal scale
(2) interval and ratio scale

(3) nominal and ratio scale
(4) ordinal and interval scale

Which of the following test(s) is /
are satisfied by the Fisher’s
ideal index?

(i) Factor reversal

(i) Time reversal

(iii) Circular

Select th€™ eorrect answer
using the ‘eodes given below :
(1) ) only

(2) (% and (iii) only

(3)¢ (i) and (ii) only

(4y All of the above

With reference to the Fiscal
Responsibility and Budget
Management Act, headed by

Vijay Kelkar Committee,
consider the following
statements :

(i) Revenue deficit to be

abolished by 2008-09.
(ii) Fiscal deficit should be 3%
of GDP.
Fiscal deficit to
abolished by 2008-09.
Which of the above statements
are correct?
(1) (i) and (ii) only

(i) be

(2) (i) and (iii) only
(3) (i) and (iii) only
(4) (1), (i) and (i)

[ P. T. O.
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26. i1 = AL dpoD F
[X}

ARAPICOMS; S9N TewBrivat) TORay :

(iii) T,308

(iv) Lgead

/549-R

adti’—l s&i—ll
(i) 2R, (a) 203,000 T,008"
STR03 oros [FY, BT
20233° SRR TR,
BRI
Re0QF AL,
(i) 303 (b) OO, e, WY,
wedts® STRORECS (OREET)

2, BBT B13)0.
(c) wotd), e:smob&ﬁo&"
3RT3 (Daees) 23,
SDUT TR0
(d) o =B WE
TORINTI m\%\
283 esmo:ga

(O3

3R03

25356

5 Zd
NS 38@5@)&?{@05 FiTolovore;

VST, SOR :

W @ (@) (v)
1) ®) (a) (@) (c)
) (0 (d) (b) (q)
(B) (@) () (o) (d)
4) (@ (0 (d) @)

'{?\

28.

29.

(12)

Sewd — (i) : T1 TReLN0Z gay,
VOTY  TPWT DB gy
B&obd TG FReUN0Z TR oy
303R0F ) Hewsd %m@ﬁmﬂ;"% ma
g MOBND D[.

Bewd — (ii) : T1 TRCEIN0S BT 3|
T10 3ect3N0s8 3RRD TPRT IRy
TOB) WINFT Deozwedd IS BRetINoT
QT STTI50 TRELSN0D TR T
ﬁmaﬁ’ﬁ@aﬁ: BERG, MOOTNEL T [

39 a&@ 03onvon BO0IRT
El'Uod

(B0 BewF — (i) FOTHNG
&‘ﬁﬂaﬁ@ Zewd — (i) ZOBRHAT
DB — (i) DB Bews - (ii)
Q0RP FOSINS
TewT — (i) D Jewd — (i)
TR TOOIPNEY
20228 Jedt 330 SToDTI),
QroenReYILD SN o39%
k"é&)é&bﬁ% CUWRSINT?

(1) ©3nes DT FW0
(2) =0T I

(3) w3nes TP TS
(4) TTeT* B¥om, AW
3003 ﬁarﬁd BREDJTT, 03T
2021-20223 Tg) @zpa%&ga AN

(1) 3esme 42.56
(2) 3Jeswo 43.44
(3) 3ezmo 44.62
(4) 3esm 45.76

(4)
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26, Match List - with List .y .

List—I

List—1

fj) Zero based (a) All expenses

pudget

(i) Budget
deficit

(iii) Primary
deficit

(iv) Fiscal
deficit

(b)

()

must be
justified for
new PeriOd or
year starting
from zero
Excess of total
expenditure
over total
receipts, less
borrowings
Excess of total
expenditure
over total

receipts

(d) Excess of total

expenditure'
over tatal
receipts, less

borrowings

\and interest

payments

Choose the correct answer
from the options given below

1)

(i@ (@) @)

(1) ®) (a) (@) (@
@ (0 (d ® (@

B) (a) (b) ()

(d)

4) (@) (o) (d) (b

/549-R

27.

28.

29.

(13)

following

Consider the

statements : _

Statement — (i) : Manufacturing
and services industries with
capital investment less than
Z1 crore and annual turnover
less than ¥ 5 crores are called

micro industries.
Statement - (ii) Small __

industries are those industries

moustlied 2
with investment more than 1

crore but less than 10 crores
and annual turnever more than
Z5 crore but®less than I50
crores.

Choose {the“correct answer
from the“eptions given below :
(1)eOhly Statement-(i) is correct

2)\/Only  Statement-(ii) 1is
correct
(3) Both the Statements-(i)

and (ii) are correct
(4) Both the Statements-(i)
and (ii) are not correct

Which of the following
committees has been
constituted for doubling

farmers’ income by 20227

(1) Ashok Mehta Committee
(2) Sachar Committee

(3) Ashok Dalwai Committee
(4) Naresh Chandra Committee

The growth of India’s total
export in 2021-2022 over
previous year was
(1) 42-56 percent
(2) 43-44 percent
(3) 44-62 percent
(4) 45-76 percent

[ P. T. O.
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0300w 23 Qe (1) (i) =02

39esn (2) (i) =532

BINT QAT 0300053 FOINT (3) SN
VS TII), S0 : (4) 3 (i)

0 (@ (@ (v .
1) () ®B) (o) (@) 33, URise, oimamd 0T EDISYR
(2) (¢ (b) (@) (d) ® o) 2

303 SRONG?

8) () (o) (a) (d) v B
@ (@ (0 (@ \L.... 1) soges

>

31. NITI scdeerid RowoQaags, §y S
39803 Beodnivy, aﬁamﬁ&% (@) a8 o

(i) QT IO, go‘ cozd (3) Hednedodo

GRBE 200
(i) ©oFs m@w@ﬂ T, TIFRY, (4) ev3s
30GEN 35 ootnng. | 3% B ISR, odns OB 2t
Tedeodd em:ﬁ (GDP) ajs-% 38
o

(i) =ow 03N  sodnens
BERZ 5T FNHT, Sl L
DO cIRT BewIRBN [ medy
1) Toqecdd & 2

ROOIRNT /39 W) Db Aaemorod dieo

(1) 1) ==, | (2) woede; S08) 3mOE AesToeod

(2) (iii) S»s,
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(4) (i) 03 (i) (4) U8T ox
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X I i
X a9, Match List -I'with List .y der  the  following
List—I List—Jy 32. Cons of the
T recommendations _
Y i) T8 FYP (@) modernisation Narasimham Committe€, 1991:
R b
PR i) Reform in money market
resource (i) Der .
development (iii) Decrease in the minimurm
V) gth FYP (c) equitable lending rate
zf;”;;“ﬁ‘t’g Which of the above is/are
ow
t?
(iv) 10" FYP  (d) growth with corree
emphasis on (1) Only (i)
fruman (2) Only (i)
development @
Choose the correct answer 3) @ |
from the options given below: @) Al (rand (ii)
| Y (@) (@) (iv)
(1) (@) (b) (c) (d) 33. ich of the following is an
‘ (2) (¢ (b) (a) (d) ample for non-conventional
| (3) () (¢) (a) (d) \E_, energy sources?
| (4) (a) (c) (d) (b) \2\ (1) Coal
(@ (2) Biogas
31. Regarding NITI Aayog, eonsider
the following statem@;%:’ (3) Petroleum
(1) Itstcame intoy 1: nce on (4) Thermal power
1 Jam& .
(i) It aims t 1‘_’1"6 I:;;isg " | 34. Which of the following
caonomnlie po 1Fy_ = organisations calculates Gross
(i) The Prime Minister is €X Domestic Product (GDP)?
officio Chairman of Aayog. i Rl S
Which of the above statement(s) (1) National Statistical Office
is/are correct? (2) Ministry of Commerce and
(1) Only (i) Industry
(2) Only (iii) (3) Indian Statistical Unit
3 (i) and fii
3) (I) an (I-l)_. (4) Reserve Bank of India
(4) (i) and (i) 5)
(1 P. T.
/s49R | BT
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méoﬁ)ﬁ@ri/‘
popminetEay
R afjiecial

(¥

i) ons () RBI s96%

) oongnt D

RERapol 220

WBNRIBT.

Jagpe oo

(iti) IncH (c) woedey, 3,08

~AoQ

(iv) %9,08° T3 (d) DO, 1) Qk

%ﬂ &) 33)%1
Ssac‘sab

nvon RBI
CALE{OVORIN)AY

Ao Ry

waﬁamu ST ‘*w_d “In.fd

555% : ﬁq_\ :

() [P

(ii) 3059950

(i) =888 myaoee 2,03
(RRBs) W

(iv) Q0260

) o0 mdoa? Gy

QORCIN ¥

() @), (i), (), (i)
(2) (i), (iiﬁ%% (i)
(3) (i i), (i)

(i)
(4) &ﬁii}, (ii)
%;i‘ %, BT BR00r @Enogy,.

37.
y ﬁé,i—ll
<) (e;adsa I8,
| @sg
() ©EB 33w (a) 4271

(ii) éﬁefirarj\ (b) 3063 ‘;@

(it1) cﬁis‘a ﬁEa:Ltﬁ ~—c) 2724

(lv) WRTHEIAS (d) 8124 ¢
3R Qe@tdS E:‘ioim@od telovipTa

ISQ esies VST S0
RRE3e. @) @ (i) ()
. (1) (@) (b) (¢ (d)+
IERE ugT wo g @ @ @ b
samw | AmELD
() c (a)
(@ (0 (d) ) 38. TruE OOR TG BRYS ANV
@) ®) (o © (q) QETHTO TRERT B,Te3T T,37ed
(1) 52%
B @ © p (d) (2) 29%.
W B G g o (3) 8%
/549.R e
(16)
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35. Mat 36. Arrange

List—1 List—nn
fj) RepO rate (@) RBI provideg
loan to
commercial
bank for short
term

fij, Reverse— (b) RBI provides
Repo Rate loan to

commercial
bank for long
term

(c) RBI borrows
money from
commercial
bank

(d) Commercial

bank has to

(i) Cash
reserve ratio

(iv) Bank rate

deposit a,
minimumTatio
of theit
nef\total
Jiabilities in
RBI

Choose the correct answer

from the options given below :

6 @ (@) @)
1) (@ (0 (@ (®

the following 11
sequential order of their years
of establishment :

(i) NABARD
(ii) RBI

(i) RRBs

Banks)

(iv) Imperial Bank of India
(1) @), @), (i), ()

(2) (w), (@), (i), (i)

(3) (), (itd), (ii), (i)

@) (), () (i), (i)

(Regional ~ Rural

S—

37. Match List—I with List—II :

List—I List—II
(Distriet) (Forest area,
in Sq.km)
(i), Uitara Kannada(a) 4271
(i) Shivamogga  (b) 3063
(zu) Dakshina (c) 2724

Kannada

(iv) Chamarajanagar(d) 8124
Choose the correct answer
from the options given below :

) (@ @@ ()
(1) (a) (b) (¢ (d)
(2) (d) (a) (B) (c)
3) (@) (d) (o) (b)
4 (¢ (b) (d) (&)

38. Tﬂe proportion of area irrigated

by tube wells in Karnataka is
(1) 52%

2) (b)) (a) (0 (d) (2) 29%

3) (@ (o (v (d (3) 8%

4) (b)) (9 (d) (@ (4) 44% |
(17) ' [ P. T. O.
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39. Lonpmy’ DORRLT, "* .
(HAL) e oS SE

n%@xeadnaﬂ
(1) 1936
(2) 1940
(3) 1948
(4) 1955

40. swor g 34 138 woieen (KAPC)E)
02, CORRAT)
(1) =, 2002
(2) wnx, 2007
(3) ABowos, 2010
(4) =T, 2014
41. B3 eumTRNE) FFLE RO,

OF 82

T8 STBRII R, ;35__5‘5
9 e Ox

-~ A
a@wﬁﬂeﬁa& ?«N}P\;ﬂ_

(1) 30
2) 35
3) 40
4) 45

4. EWFTO,  2017-1550
(153,68000 8830h T61) g5
daI59, 81 3 QIR Aoty
(1) 2imes, ©F, W, T ey
(2) e=8, Y, Bred 3 A

s )

3) o, sE0ce, 8 s i
HNZReY, o, g D3 Angg

4%. o ﬁme@ﬁ%’g{ WOLIR

VTR TT BERERORT? Q& odmezss ==
(1) Rneze[e Q .
(i) = Wema*
2) womse ,\\}-—?\ e =219
o)
(3) Sawesse \2\
0 2
@ e (9 (1) g%@dsf 2014
42. TRFL/S  SOFF 2T By ibw"‘—’g‘@mfﬁ
ge;ﬁg@ﬁq;qm 20032 ' (i) =503 =08, 2015
'@jﬁ%&md 238030, (iv) ST M0Q 2006
(2) 20013 %3n0er wmomn, TN T19,e0¢89
WD, Z)0BTY FOTORRGY e, QUTIR, T 8008,
7103, g3t @by T 3Rz
TAFBOTIB,
PROFE0mT ot REBT o, tEptBnE> FOcIHN
©) B0 250% 1ot wesy FROTREROITIBS
eon =
S RISV (1) 20%d tred RS,
T ORI, &
PN (2) TR Eeeand Ins,
) o5 O mmeds 233 amay (3) Zwedd ecaniss IS,
PVBITIN EROTLINAT.

/549-R (18)

(4) oo ReednTH
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industan Aeronautics Limj .
39. Hin S Limiteq 43. The Nanjundappa

committe€ g
[HAL] was established in which

to

? used ____ indica.tors b
e 6 determine regional disparl
(1: 1330 in Karnataka.
2 (1) 30
(3) 1948 ) 38
(4) 1955 5 40
(4) 45

40. Karnataka Agriculture Price
commission(KAPC) was formeq
in
(1) July 2002
(2) August 2007

44. Which of the following 1is
correct in terms of area under
the crop (highest to lowest) in
2017-18 in Karnataka?

(1) Jawar, Rice, Bajra and

(3) September 2010 Wheat
(4) June 2014 (2) Rice, Wheat; Jawar and Bajra
3) Bajra, Jawar, Rice and
41. What is Karnataka’s rank in silk X Wiiééit
production in India? (4)eJawar, Bajra, Rice, and
(1) First Wheat
(2) Second 45. Gonsider the following pairs :
(3) Third , Scheme Year
(4) Fourth \ (i) Jal Jeevan 2019
. Mission
42. Which of the following i§ net .
correct about Karnataka’s (ii) Swachh Bharat 2035
" Mission-Gramin
(1) Rice is the main food crop (i) i?j:if;'lrna;tn 2015
grown in Rvegion iv) Mahat J Gandhi 2006
(2) According to 2001 Census, ( Nati:nrfallaRu?{:l .
around 71 percent of the Eiploysent

workforce are farmers and

agricultural labourers How many pairs given above

(3) Major energy UsC 18 are correctly matched?
catered by commercial )

sources . i

(4) The State is known for silk
rearing and production of
Khadi

/549-R (19) [P. T. O,

Guarantee Scheme

One pair only
Two pairs only
(3) Three pairs only
(4) All four pairs
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46. ouss ZORODT
) abagemezbﬁ" T,3TR (A) : TYO 7,08 e xn
(1) ST B,

- (2) T

VD)

(3) WeR0es* D20 = 0D (R) 3;(’3 5,08 e;
e 3200 VB TVODR), T,
P o000t BRODR ! YN QeRTOW SodNPoT Zoodn:

47. “&3-1 2311 GUITHI), WO _

) BEarzs03008 (a) 1979

(i) ﬁw;imwmof (1) (A R) Zocdnna), (R),

Ea ’éa ¢ ,(\A; RTINT.
o]

(ii) TR,&Q0eea eip T&SOT (b) 1983 'é}\ 1A) Tn» (R) BO03RAS esg
VTR, €71 719, TOES v\ (R), (A) 3 QBTEAIDNE),
o3Rexs 2

(iii) RFaFeso08 B8O (¢) 1999 \k_Q 3) (A) Rocinng, sad (R) 3,
R MT 0dnews

A \z\ (4) (A) 3N, 533 (R) 2o.
oD, B-VTR, N3
BTRR $
NPT iptesd 49. MGNREGA sa0he) weiah s5ong
DDA e Lomo3E Tomyrad, Feom, mo
VTR, €71 83 D%, RFOF OTSL CRAT B9 LTNRT
odpexs @;bme@

' (1) 100:0
0 @) (@) () |
(1) @) ®) (© (@ (2) 50 : 50
) ®) (@) (@ (c)
25 : 25
@) (@) (@) ) (c) )
W © m @ (@) (4) 75 :25

/549-R -
m.—._-__mo) bt M
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panchayati Raj of Indig?

(1) Mahalanobis

(2) Kautilya

(3) Balwant Rai Mehta
(4) J awaharlal Nehry

47. Match List-I with List-IT -
List—I

(i) The Swarna

Jyanti Gram

Swarozgar
Yojana

List—IT
(a) 1979

(i) The Rural
Landless
Employment
Guarantee
Programme

(b) 1983

(i) The Swarna
Jayanti Shahari
Rozgar Yojana

(c) 1999

(iv) The scheme of
Training Rural
Youth for Selfs
employment

Codes :
@ (@ (@)
1) (@ () (o
(2) (b) (a) (d)
B) (d) (@) (b)
4) (¢ (b) (d)
/549-R

(d)N1997

(iv)
(@)
(c)
(c)

who is known as the Father of

WWW.SHIKARAT.COM

(21)

49.

wing
48. Consider the follo
statements :
ow
Assertion (A) Yeuthe
revolution increased

production of seeds.

Reason (R) : White revolution
increased the production of
milk.

Choose the correct answer
from the options given below :
(1) Both (A) and (R) are true
and (R) explains (A)

(2) ABoth (A) and (R) are true
but (R) is not the correct
explanation of (A)

(A) is true but (R) is false

(4) (A) is false but (R) is true

In the case of material
component under MGNREGA,
the ratio of funding made by
the Central and State
Governments is

(1) 100:0

(2) 50 : 30
(3) 25: 25

(4) 75 : 25

[P.T.O.
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50. U &m03 3mexd S30,m38 &%,
Besdodo T8RP

(1) [T T,epwn oD

(2) 0TEVT TePOT V0D
(3) AT JeFOT RO
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(4) Sy RFReeRTY, FoFod
%008

51. R0F8 RROBEHSY,

DeOTIT BN

(1)
(2)

:Soz;;od:o T

QT THNTOLMOT

WID NO33,03 TWTHLMTT
(3) T DdedTT
(4) w=d R033 0 2DDRTT

‘B ToOTOR’ ATE, 20T @wm.ﬂ
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QeRT QOIE %

(2)
8) ewvmmm am@
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(4)
PRFET T, BRTFL DO
ed o

©,803RY  BRTIWT Y0Z0 DR
QUSF T T 06D

(1)
(2)
(3)
(4)

52.
23eRF oD

53.

ORFTR, SL
BRTFe WOt LN
TOOe 20T N

ABOT Ty3oe0

/549-R

e d

(22)

54. 9nS oIRE ROV Izm

56.

{

y:f (JC) aa:bqa 2:02,;:
rosgre®3a?
2
d dy _
(1) Y50 and Exj-—l
2
d2

2

TCRAES, TS P RO T)gae

g?\ ™33 ZZReUTT

(1) 7iog Boores, SealobOtsss

(2) 3T Boores, Beadodd) eVIn

(3) ’&mmﬁa Seas B 22T
Beadod SR ABFT BOITE,

(4) o> BooRes,  Seadnish
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AROTINTIST.
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1 ra ;
O ariable cost reflects B | g4, y=f(x) function will P€
.(1) the law of declining retyyrp, maximized by satisfying which
to variable factors S of the following rules?
law f i ; 2
(2) the o) - lnCreas1ng (1] gﬁ> 0 and _._-—d g:
returns to variable factorg dx dx
(3) the lav.v of constant returng 5
to variable factors 2) y

(4) firm’s efforts to minimize its
cost

2
3) %=1 d —ng >0
g1. The firm is a monopsonist in the
k
labour market as 4 N dﬁy 1
(1) a single seller 4 259 and —a

(2) large number of sellers 55. Under the indifference curve

(3) a single buyer afalysis, the consumer will be
(4) large number of buyers ’m ¥n equilibrium
, (1) at the highest indifference
52. Veblen effect is an exception tg curve
the (2) at the lowest indifference

(1) law of demand curve

(3) at the point of tangency
between the indifference
(3) law of produsetion : curve and the budget line

(2) law of supply

(4) law of consumiption - (4) at the intersection of two
indifference curves

.83. Under Cournot model of | gg Every factor of production gets

duopoly, each duopolist will reward equal to
produce (1) the value of average
(1) half the output proguct
(2) the value of marginal

(2) one third of the output product
(3) one fourth of the output (3) the value of total product
(4) unequal amount of output (4) the total revenue

/849.R (23) [ P10,
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57. @u-1 & 3411 gpodn &P oRo AmR), RRERID
ed
I
-1 gt (@) B GBS
35
(i) HoT “ g;:-v‘ (b) BERO G
Iedod 7=, 3
) otz (B) 9RO KT ? 2 e s:ié
i) 003 (0) o &7 T, @5 ’
" - ZoBeanLD :
(iv) 3SRt (d) O03REST TV, 1) () 3% (b) RO
- = OV®, =
89S wodyieon BocanT HUZCEE Q) (B) 33 () HOOIRNS
&0 : N )
0 (@ (i) (i) (3) (¢ ) BOOIRNGS
W@ B e @ @) (S (d) Hoctms
(2) (@) (c) (b) (d) ‘

3] 3-II Srodrt BRI :
® © @ @ @ o1 St sl ;
@ ) (@ @ ( Q= 31

58. & 39AS  oanw deﬁﬁ%&-w (¢ otame (9} Homa0 38,
Sleviece R love g@oﬁaﬂmew@?{ (i) &F -2RT  (b) R
i O) cdmerigeas TOdor
(1) ATC .
(2) AFC @ (ifi) W RS (c) mRT MO
((2; ;\éc § (iv) Aginey (d) &, TRIZoR

WOT/OT

59. 2RO L-550

DRREEIOL L-5500 sz I

(1) QT L3N TRTTZTR

(2) <BR ©oBND  Bomgprer (W (@ (i) (v)

WEOIRNTN (1) (¢ (d) (b) (a)
[8) 20 ©0BNTR, 40 Satnwory @ (0 (@) (b) (@)
WIRATHN
[4) S0R>  soBH e @) ®) (@) (o) (d)
WEAIRNTN (4) ®) (d) (0 (a)
/549-R (24)
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. ‘nked
60. A point of ‘kink’ in the kinke

pist-1 List-o demand curve indicates
] Wealth (a) Alfreq Marsha] (a) price rigidity
fi) Welfare (b) Adam Smit, (b) quantity rigidity
i ey (0) IM Keynes (c) price flexibility
) Growth (d) Lionel Robbing (d) quantity flexibility

choose the correct answer

: g Codes :
from the options given belgy :
() (H) (@) (iv) (1) (a) and (b) are correct
(1) (@ (b) (o) (d) (2) (b) and (c) are correct
(2) (a) (c) (b) (d) (3) (c) and (d)"are ‘correct
(3) (¢ (d) (a) (b) (4) (a) and \(d) are correct

4) () (a) (d) (c) AL .
61. Magch List-I with List-II :

58. Which of the following curves is List-I List-IT
also known as rectangular [ /Rareto (a) Compensation
hyperbola? principle
(1) ATC (i) Hicks-Kaldor (b) Social welfare
(2) AFC function
(3) AVC (i) Bergson (c) Social
4 MC optimum
(iv) Scitovsky (d) Double
59. When is an 1soquant L-shaped? criterion -
(1) When the two factors are Codes - compensation
complementary )
(2) When the two factors are W) (@ (@) (v)
perfect substitutes 1) (¢ (d ) (a)
il Wlen Hhe G BEEC . @ (0 (@) @ (@
used in fixed proportions
) When the two fctors are | @) B (@ © @
imperfect substitutes 4) (b) (d) (c) (a)
/549.R (25) [ P..T.-0,
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62. ZpRE I AgFORS

e503130T0

0, 637903
) wag I I8 M
L)0BTE ﬁﬂg

(2)

(3)

(4) 8BS Ry Fe@s

63. 135 ©0¢ (inflation) =,RTD
cInyde TRINQY [ FRRIR
DORBTE BOR0H wond TRT -
[T, VeRTRD

(1) =6. 0. 3e3°

&

(2) WOF FERRT

(3) PRI @

BratoRd B DT Dedrish

4]

(4)
64.

(1) [osmrodnsd

(2)  2omBROT FeomHnEs
(3) [odwrod 2 Feoy

(4)

20T DUSBARIT.
eOT 0BRT TePBEd FOOIRAE?
(1) (1) =92 (it)
(2) (1) o2 (iii)
(3) (i) =02 (iii)

uocﬁﬁr%ocb ﬁowoqja)g’
/549-R

(4) (i), (i) =02 (iii)

(26)

Scanned by CamScanner

KA%S.-C%.L_I az{ ﬁ%—l[ gRodnR momfj
6’

Fe3-1 ab.L-II
(i) PRERT (@) VDIFONT 2.7
TRIT V00T
(ii) BROODT (b) & o= Fer
OA! we
ﬁua%oa’
(ili) TORFRIT (c) SooTee* DV
ejo&ﬂodg Q@JOTT‘
RRCE3 -
(iv) S8 ) RRCEFT Lo
Slalacclove
[S- LM@
0% ROCINT wérﬁdaﬂa
Q& (1) (@ (@) ()
Y?\ (1) (b) (@) (d) (c)
(2) (@) (¢) (b) (d)
N 8) (¢) (d) (a) (b)
4) (b) (d) (a) (c)
66. 35 FINT TevINYR) Toness
() =08 GDPOHRY 3¢ BSRee)
cﬁsé SRBOINOSBH.
(i) % GDPo®R A3 BERYS,
RNBENZS.
(i) Toeod SF  RYAL k)
T3edeodd HuPBONT 02D 283,
WOBIY  0BI 'A:_‘abaa“’mﬁd




factors that determyjp

(1) rate . of interest and
marginal t=:fﬁci..=,-1-lcy of
capital

(2) demand and supply
(3) price and elasticity

(4) price and demand

63. The definition “inflation is a
form of taxation that can be
imposed without legislation” is
given by
(1) J. M. Keynes
(2) Milton Friedman
(3) Modigliani

(4) P. A. Samuelsoft

64. Monetary and\fiscal policies are

(1) substitutes

{ 66.: Consider

WWW.SHIKARAT.COM

65. Match List-I with List-

List-I List-II e
(i) Psychological (a) 1rving Fis
law of
consumption
(i) Time preference(b) J- M. Keynes
theory of
interest
(iii) Public choice (c) Mundell and
view Fleming

(iv) Open economy(d) Gordon
IS-LM model Tullock
Choose the gorrect answer
from the options, given below :

() ) N ()
1) ® @/ (©
@.an () b)) (@)
(3) \(& (d) (a) (b)
@) (d) (@ [

the following

statements :

() Nominal GDP is calculated
at current prices.

(ii) Real GDP is calculated at
constant prices.

(iii) National accounting

conventions ensure that

gross domestic savings
and gross capital formation
are equal.

Which of the ab_ove statements

(2) complementary © each are correct?
other (1) @ and (i1)
| — () (i) and (i)
(3) substitute and comP 3) (i) and (ii
(4) unrelated () (e s, gty
(27) [ P. T. O.

/549.R
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67. B 89NS BReBNTsy &

2383 208 Wit Lplel)
(A) Bead-wng (e, B 2
%8 B,%0e0 3 e, Cexd

B) S-de> (i) 33 5O BB
3 TRDe s BRROTY,
e
(C) Sumgs w8 (i) Sompeor N
Ao RGor3E AROORE,

0eSG eBERT BnD  Beed(NK)

AO0IRA BRODFCIRRTYO?

(1) 3o (A) \E—
(2) Fezo (B) \2\
(3) (A) == (C®

(4) (B) =

68. 3SFTMOT U-5500 <03 N3

oS00 BBOR BowoRRT
(1)
©
(3)
(4)

. . D)
Ber® Coief
m;ma* ﬁ)ﬁqw‘

Sleovedd R

/549-R

(28)

-HDﬁWW.SHIKAlRA'ﬁ&M'aé B, Teoxy) 3 TR ’**’Uﬁ’ﬁ*éa; |

Oedey

ADIESEVIaS 3R
BEITOW TR, DT[ORIT?
(1) 3~ 39T TeTOWT

(2) He3- AFST TETOWT

(3) ews- 39T BeawOWT

(4) FerE- AT HEaTOYT

70. 3303 ée@%ﬁ@aﬁg{ 2ONedA :

D | 0%, T3o000T VTR T
590 PRRCF TR, e
/i DRSNPNT B [Ty

TR, AD =0RE  womy

Q* ﬁféamméd

200 (R) : WS 00BBS =08
TR, er Einie WRTOTEIODAS eieas
0B agrari’ﬁodo *;o:’oozsacﬂs RLTAlY
‘-‘cgaﬁraei-‘cirasmé a:b&%ddg{ SOTYRIS.

PN QeRTT wodgﬁ@ocﬁ ROOINT
wgdacﬁ& 303 :

(1) (A) S (R) 20D ROIHAS
022 (R), (A)o =do3nd
DS

(A) 353 (R) 28R» Z00IRAS,
38 (R), (A)od Noodnd
QR

(A) 30 T3 (R) Roodhe),

(A) 7OOHE, & (R) B0

(2)

(3)
(4)
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1. consider the following pajl{WW-SHIKARAT.COM

Type of Cause
Inflation
A pemand- (i) Increase ip
pull aggregate
inflation demand ang
Supply
B) Cost-push (i) Increase in
inflation wage rate ang
profit margin
©) structural  (iii) Perfectly
inflation competitive
market

Which pair(s) given above is/are
not correctly matched?

(1) Only (A)
(2) Only (B)
(3) (A) and (C)

4) (B) and (C)

68. Inverted U—sh&tpeﬂ incon%e
distribution \hypothesis is
associated with
(1) J.B. Clark
(2) David Ricardo

(3) Simon Kuznets

(4) Adam Smith
(29)
/S49.R

69.

70.

too
‘Too much money chasing,

few goods’ — explain
type of inflation?

(1) Cost-push inflation
(2) Cost-pull inflation

(3) Demand-push inflation

(4) Demand-pull inflation

Consider the following
statements :

Assertion (A) » According to
classical tHeory of employment,
full employfient was special
situafion™and any deviation
from, this was regarded as an
abriormal situation.

‘Reason (R) : If there is over

production and unemployment,
the automatic forces of demand
and supply in the market will
bring the full employment level.

Choose the correct answer
from the options given below :

(1) Both (A) and (R) are true
and (R) is the correct
explanation of (A)

(2) Both (A) and (R) are true,
But, (R) is not the correct
explanation of (A)

(3) (A) is true, but (R) is false
(4) (A) is false and (R) is true

B 40,
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= ﬁfﬁ’d : WWW.SHIK
71. 39N BeednoR) TO o ROUATZD 7
Z3mus (A) ¢ =0 Ry () sFRRS
& o TR0 3350175

TRihy, S n =30 (i) CoweFr Aredine
T I SR 3 g 9T
mEs 3, wee sad orRte (iii) xoric*

] 3
st (R) @ OFE, mod 308 () TIRT® T,
Boivow 33 GmAbE WE) PR BogeBRLD :
T3, mexemzcﬁ esT30E0300 (1) () S (i) 3O
emoﬁo@ xBegon 8RN A0 (2) (i) S>3 (iii) 30
PRI, (8) (i) o, (iv) Bo
89 QRS ok,neos FO0RE (4) (i) Fo=dN(iii) %0

YUSTS), SOR |
74, SRFIISedriodn TR DOAONST

(1) (A) =032 (R) 20@» FOCIRNES TORZB 200 eWBCHRY Dikor
T (R), (A)7 BOCINT HRCF LSS ep eeiap,
—_ 5
2) (A) 7o 2, (R) 7o e, W Bk hmpd
(3) (A) 2 (R) o@» %0 «a@ 2) 837 P a3
(4) (A) 203 (R) oo <008, (3) Boz* & wore
(R), (A) n xomﬁ WO @Ggﬁ (4)

DF0R, 83 IPZedriodd ATRO3

72. “XTT 38 @ AOTPEIF TN DS eodd = R e
5.
» 75. T23Reos W3omeiriod pleve! 303 3

aﬁe@iooba - agmj B0 BENIINGO By 3

T, BRTONG” aom 30330 (1) o SOODRTE &3‘6&@% oR&E
oRT?

(1) ot (2) FeZo 2o woododel TP
(2) oF. o. mode (B) *x Joodhnye AB03, NS

(3) 2. oeesags
(4) 2. 0. 69?51
/549-R

(4) 330 282 ooty gng,
R

(30)
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lng

that
individuals or householqg fal]
their consumption expendityre

does not fall much.
Reason (R) :
given Income would devote

income of

A farmly with a

more of its  income to
consumption if it is living in 4
community in which that
income is regarded as relatively
low.

Choose the correct answer
from the options given below :

fOllo WWW.SHIKARAT.COM

urtb&'v'llance'::1

f
73. The doctrine O ded by

growth was propoun
Hirschman
Robert Solow
Singer

(iv) Ragnar Nurkse
Codes :

(1) (i) and (ii) are correct

(2) (i) and (iii) are correct

(3) (@e correct

(4) (i) an e correct
gn{ztlon that economic

Wl].l percolate down to

(iii) and

74. T

(1) Both (A) and (R) are true,
but (R) is the correct l ectors is known as
explanation of (A) ) dispersal theory
(2) (A) is true but (R) is falseQ\k" (2) trickle down theory
(3) Both (A) and (R) are f " (3) pump priming theory
(4) Both (A) and (R) are e (4) decentralized growth
but (R) is not @orrect theory
explanation of.(A)
75. Which of the following is
Who stated rade cycle is correct about the strategy of
purely a monetary phenom- balanced growth?
enon, because gener«’sﬂ demand (1) Simultaneous investments
is itself a monetary in all sectors
Phenomenon”? (2) Investment only in one
(1) Hawtrey sector
(2) F. A. Hayek (3) All sectors are independent
4) Investments only in two
3 ter [
(3) J. Schumpe ol
(4) J.M. Keynes
(31) [ P T80,
— s
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76. % NS I UOF mé"ﬁ
ToLoDATOZ LR

(1) Besa oprg R

socuidod, BT
LWIRERRHBN

(2) SmehE RREoe, CHRES

3y Bowsrt RorODNECS

Rojod more 303, PIBOS
udmﬁmﬁ%

(3) GNP o) gaodh =IFS,

N0033 s wre  §MOs,

39,390, %3, 0807, ﬁ&}dﬁ

NRRFED Torte Aesng mOSE),

ATOBT QO3

(1) B F3ob Fu 3on smodEe),

R/ 2o3
T7. 3e3-1 . =
» B S BT Broar Beods :
Sl SR

‘:Jfoﬁ
(ll) "'awfﬁ (b) ﬁ

'ﬁ'@a}
(i) zﬂem 238, OF & emsises

oAp) 'ﬁoﬁ
(iv) Ebd*ei

) 93 o (a) asems @0 ﬁgé\\

(d) T,03 ¢

(32) T3

78. o. 3. Ae* 0RO 7,500 yRTSTY, BJUE

R0 i (ef20)

(1) ROSRT DITF FONFATIG
8003

(2) RQe@d 3OS

(3) ews 303

(4) &m0 TEPFNS 8RTIS

79. FINT BeeInIY TONEIA
GIRETRI ALY {A) Sogdeen WeTT oF,
ATHOZT mmenw WO
ﬁ&o:o BTONT  &Woed

;& @emrmcm R0eE3
cT'bwra STOOWATIIT.

ra (R) : 53 weamzoohe
?‘ E’:)Be&e NPT =T8T e dzsd

Wacﬁ@odam oiraezﬁatjomzﬁ

(1) (A) 7o (R) 3,

(2) (A) =nn (R) 2R

(3) (A) 23 (R) =0

4 (Aa) 3z (R) o825 5000,
(R), (A)3 Hmos 1

80.
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6. which of the fOllowjng
¢rue for economic deve]
(1) Pro_gressive chang

SOCI0-€Conomic
of a country

is

@

of production as w
distributive
income

A  steady

Pattern

(3) decline

agriculture’s share in GNp
and a continuous increase

in share of
trade,

OPment;

€S in the
Stmctllre

ell as in

industries,
banking’

78.

of

in

79.

construction and Services
(4) A sustained increase in
real per capita income

77. Match List-I with List-II -

List-T
(i Permanent
income
hypothesis
(i) Relative
income
hypothesis
(i) Life-cycle
hypothesis
(iv) Absolute
income
hypothesis

(a)

(b)

()
(d)

List-II
James
Due senber{y

J. M. K€ynes

\Milton

Friedman
Franco
Modigliani

Choose the correct ansWBI:
from the options given below :

(t)

(i) (i) (V)

1) (d) (@) (c) (b
) (d) (@) (b) (@
®) ) m (@ (@
4 (© (a) (@

/S49.R

80.

(33]

WWW.SHIKARAT.COM

ines
According to A. K. Sen, farml;;f
occurred in India becausc

(1) lack of proper distributiont
mechanism

(2) lack of supply
(3) lack of demand
(4) shortage of foodgrains

Consider the following

statements :

Assertion (A)® According to the
life-cycle theety of consumption,
an individual level of
consumption depends not just
onfcurrent income but also on
long-run expected earnings.

Reason (R) : Individuals are

assumed to plan a pattern of
expenditure based on expected
earnings over life time.

(1) (A) is true but (R) is false
(2) Both (A) and (R) are false

(3) (A) is not true but (R) is
true :

Both (A) and (R) are correct
and (R) explains (A)

(4)

In Domar model, output-
capital ratio is determined by

(1) technological factor

(2) entrepreneurial behavior
(3)
(4)

investment function

savings ratio

[ P. T. O.
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SO0INNG/39 @ >
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@) () =3 (if

(3) () o=
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82. @d@ﬁs ERET IR T,523,
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(1) 599:132%6

(2) =romnysaes

(3) A3 22

(4) TORIZDE)

/549-R

(34)

. & 3ONT oI Sedn SREOO
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(3)

(4)

%&1 O a:)éeoja ROONLL

3D a:)éeo:b RN
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%maﬁ =0
DASLY é’maﬁ geg,nsd

T emzsm B 3390&3
ﬁe;odami:

85. 31 39N odn orf A0z s

%35 md‘mﬁcb@@@o
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82.
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C'onSidCl' the
ents ab : wing
statem out inequality

(i) The observation that
mco'me Inequality initia]]
declines with the level of
development ang then
increases. later ig often
called Kuznets curve.

How income is distributeq
across individuals ang
households is referred to
as horizontal inequality.
Vertical  inequality is
concerned  with  how
different groups in society
are treated based on race,
religion, language, caste,
gender and so on.

(it

(iv) Inequality decreases after
certain level of
development

Which of the above statement(s)
is/are correct?

(1) (i) only

(2) (i) and (i)
(3) (i) and (iiy)
(4) (iv) only

According to Harrod-Domar
model, what happens in an
economy when actual growth
rate is greater than warranted
growth rate?

(1) Inflation

(2) Deflation

(3) Steady state

(4) No effect

(35)

84.

85.

WWW.SHIKARAT.COM ‘ ired
follg 83, Which growth model inspir

o for
the capital—output. rati0
development planning?

(1) The Harrod-Domar model
(2)
(3)

(4)

Kaldor’s model

Solow’s model

Feldman’s model
Fei-Ranis model of economic
growth is/felated to

(1) agsicultural and tertiary
sectors

(2) industrial and

sectors

tertiary

(3) agricultural and industrial

sectors

(4) agricultural, industrial and

tertiary sectors

Which of the following canons
of taxation was not advocated
by Adam Smith?

(1)
(2)
(3)

(4)

Canon of equity
Canon of certainty
Canon of economy

Canon of elasticity

[R. T, O,

Scanned by CamScanner



SH
86. NI CINYD WOBETY (W‘i“i
Fpedodne) B ATFBHOD emdezsﬁ

(1) 333
(2) »¥53
(3) ooimodnd

(4) =W ?a;ai

87. 3N ﬁme@ﬁ@a’g{ TONEIR

LIAVE! R
() To% 8RO, 1991
FSAVE]
(i) 3. SF. Sead 1993
FSAVE) ,\*
(i) Sdoede 1975 \2\
s <

(iv) ¢35 3or @
IO ﬁm@

X063 VeRT @ﬁ% BRedngh ROOIRA
momsﬁﬁmmgﬁ?

(1) 2oz w¥rea RBR3,

(2) ao’m' Epeansd W
(3) = ®Beeansh T,
(4) o Weednshd

/549-R

(36)

3500089 R

méo Bedne 35"@3 PG 56”‘
¢

e (Dadod o R FFP) 22

Sd  sdobosms  FOR
3, 00N,

e - II : mcbsaa ags;de)éﬁowd
@aﬂ@oﬁmﬁ 308,83 a:imci:sa%
FOOF W 2903 *Dma

@Zﬁnzﬁﬁ SOFT DIPSROT

@0?}{@
wt)ﬁ.@%’béd
:;9% BT SodPon HOOIRE

Wedﬁ&b 508 :

(1) SBews-1 D02 Bew? — 11 A0ER
% WBY BewB — IT 030 e
= 1 T 300303 O=88Ba3nAz

(2) Bed- 11D Bewz - 1n DTER
0% TP Bewd ~ IT o3 Beog
- I S Zoodng DFTEOY

(3) Tewd - I ey, UT8 Bewg - 1T
RO

(4) Bews -

1302, 5538 Bevd - 11
PN

Scanned by CamScanner




e

'

87.

(i

(i1

(i)

(iv)

WhiCh Of the fOHOWi
the objective
management?

(1) Liquidity
(2) Security
(3) Profitability

(4) Credit creation

Consider the following pairs -

Committee

Year
Raja 1991
Chelliah
Committee
K. L. Rekhi 1993
Committee
Wanchoo 1975
Committee
Direct Taxes 1970
Enquiry
Committee'

How many pairs given above
are correctly matched?

(1) One pair only
(2) Two pairs only
(3) Three pairs only

(4) All pairs

9-R

WWW.SHIKARAT.COM

(37)

88. Consider

the

statements :

ket
Statement - 1 : The i

mechanism refers to as
ongoing interaction pbetween
the forces of demand, supply
and prices ( determination and
variation) of the goods and
services at both individual and
aggregative level.

Statement — IT\ Market failure
is when ~the, outcome of a
primarity\unregulated market
mechanisin  deviates from
géneral accepted socio-
é_(_;bnomic criteria.

Choose the correct answer
from the options given below :

(1) Both Statement-I and
Statement-II are true and
Statement-II is the correct
explanation of Statement-I

(2) Both Statement-I and

Statement-II are true and

Statement-II is not the

correct explanation of
Statement-I

(3) Statement-I is true, but
Statement-II is false

(4) Statement-I is false, but

Statement-II is true

[ Po ‘r‘

Scanned by CamScanné!r'



91.

WWW.SHIKARAT.COM
93.

gaeon®

(1) Immeorde 307
(2) Iz 3on

(3) e 307

(4) w0t ZeIw 3or

(Quid  Pro  Quo) \é
TorERoEE % |
(1) @c&aemassa IN

(2) o3 m

(3) (1) = ) avzne ]

(4) (1) 5S%542) soy

R NI odng 2on (ADlexmle)
195309, =ouaodvw 19855,
dci%ﬂrac&%a:? - )

(1) QR gL @R, L8

(2) DwdF ort

(3) evEdried 3or
(4) 3a smoob 3on

/549-R

(38)

M g dorind  Xomomng
>

odR?
(1) %%FO0 eSTIRODBR), By

s903)  BOITONGD ATy
cletalas

(2)

(3) geabo%ﬁ ToB=ON T
aa‘rzomgd

(4) (1) a‘aoasQ% QTER
@

¢
: @m@n@a@t 20 :

CIRT IFTO, IORTIT IR ReF O ? )
SRIT FowopSRy,  $w-Fp, -89

(i)  T30,=e583

() ST TosE

(i) 3oz %

iv) B3 63 S

DOTYNYY, QIR RRoNEesns

=02 T SROFIRRT ;7 MOEIOFEINT)
TRCOY? )

(1) @) ==y
) (i) 3ng
(3) (ii)) Ing,
(4) (iv) 2o,

Scanned by CamScanner



9. The

90.

o1.

920

WWW.SHIKARAT.COM

difference between
revenue expenditure and
revenue receipts is

(1) revenue deficit
(2) fiscal deficit

(3) budget deficit
(4) primary deficit

Canon of equity in taxation is
generally considered to be
satisfied by

(1) proportional taxation
(2) progressive taxation
(3) regressive taxation

(4) lumpsum tax

In which principle(s), the
relation between the taxpayer

and the government is seen ia\\'

Quid Pro Quo?
(1)

NS

The Benefit Princi

(2) The Abililty Pay
Principle

(3) Both (1 )

(4) Neithe nor (2)

Which of the following taxes
was introduced in India in
1953 and abolished in 19857

(1) Estate duty
(2)
(3) Gift tax

(4) Agricultural income tax

Expenditure tax

N

(39)

; progr®
93, Implications  ©
taxes
mmel‘l
(1) increase gove
revenue
. in
(2) bring equality

distribution of income

(3) act as penalty for richness

(4) Both (1) ;{ (2)

94, Con /{1&}3’16 following :
: @Honesty

v (ii) Income distribution

(i) Clean air
(iv) Individual houses

Which of the above does not

possess the pon-excludability and

non-rivalness characteristics?

(1) Only ()
(2) Only (i)
(3) Only (iij)
(4) Only (i)

| P. TLO,
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gs. Which of the following is the

efficiency  criterion -

of
Samuelson model?

the
(1) Sum of the marginal rates
of substitution is greater

than marginal 5
transformation

rate
(2) Sum of the marginal rates
of substitution is equal to
the marginal of
transformation

rate

(3)

Sum of the marginal rates
of substitution is less than

the marginal rate of
transformation
(4) Someone is better off

without making someone
worse off

96. The concept of merit goods has,

97.

been introduced by
(1)
(2)
(3)
(4)

Buchanan
Musgrave
Samuelson

Tiebout

If the demand for a commodity
is perfectly elastic, the
incidence of a tax on that
commodity will be, other things
being equal, entirely on the

(1) buyer

(2) seller

(3) government

(4) local authority
/549-R

98.

99.

/ -

illips curve ex
f;atignship petween V;
the following varia!nles 1
(1) Wages and price lei‘ve s
(2) Inflation and unemp oyment
(3) Income and unemploym
(4) None of the above

The main criticism of the

Bretton Woods system was that
the expansion of international

trade could only be maintained

100.

(41)

by a parallel &x ansion_ of
internationakiguidity, but that
the existing jmechanism for

expanding‘____liqui'd'ﬁ?-’ca.lld not

—— - .
be stistained in the long run, 1s

well known as

(1)~ 'Bretton Woods dilemma
t2) Triffin dilemma

(3) Ohlin dilemma

(4) JB Say dilemma

Which one of the following
statements is not correct?
(1) Both the IMF and IBRD
have headquarters
Washington
Both IMF and IBRD are the
constituent organizations
of the United Nations
Organization
IBRD is also called the
World Bank

India’s vote share in the
International
| Fund is 10%

in

(2)

(3)

(4)
Monetary

[BT: 0
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